

M/s. Harindra Enterprises

Add.: Mahuawa Khurd, Deoria (U.P.)

Sr. No. 907

Date: 08/01/2024

Name: आर.ओ. ह्यापना कार्प

Address: गाम पं. सोहनीपा

Sr. No.	Description of Products/Service	Qty.	Rate	Amount
1-	एक अरु आर.ओ ह्यापना कार्प कम्पली	01 3155	2,39,413	2,39,413

2,39,413/-



Handwritten signature and text:
 [Signature]
 सचिव
 सोहनीपा

Total Invoice in Words: दो लाख त्रिंशत्तिस हजार मात्र
 Total 2,39,413

Terms & Conditions:
 E.& o.E.
 Goods once sold will not be taken Back
 Subject to "Deoria" Jurisdiction Only.

Certified that the particulars given above are true and correct
For- M/s. Harindra Enterprises
 Authorised Signatory

M/s. Harindra Enterprises

Add.: Mahuawa Khurd, Deoria (U.P.)

Date: 15/12/2018

Sr. No. 798

Name: राजेश उमोपा ठाट कोपके से पोखरी ल म डिग्न नाली

Address:

Sr. No.	Description of Products/Service	Qty.	Rate	Amount
1.	Pricks	5015	7245	36333 = 46
2.	40mm plaster	7.77	1365	10606 = 8
3.	Cement	57	364.7	20793 = 05
4.	Fine sand			
5.	Coarse sand	3.85	1769	6849 = 60
6.	20mm aggregate	4.95	4065.25	18090 = 36
7.	mild steel	1.62	4220.25	6836 = 80
8.	250mm HP 2 rollers	1.41	6077	8568 = 57
9.	Photography	93	2696	250728 = 20
		3	150	450
				359257

Total Invoice in Words: Total 359257/20

Terms & Conditions:
 E.& o.E.
 Goods once sold will not be taken Back
 Subject to "Deoria" Jurisdiction Only

Certified that the particulars given above are true and contact
For M/s. Harindra Enterprises
 Authorised Signature

M/s. Harindra Enterprises

Sr. No. 906 Add.: Mahuawa Khurd, Deoria (U.P.)

Date: 10/01/2028

Name: आर.सी. ली. डे-य कार्प

Address: रामपुर - सोहीपा - रामपुर काठगढ़

Sr. No.	Description of Products/Service	Qty.	Rate	Amount
1-	25 अड्ड डे-य कार्प	25 अड्ड	6000	1,50,000.00
<p>1,50,000.00</p> <p>Harmin 28</p> <p><i>(Signature)</i> अरवि सोहीपा</p>				
<p>Total Invoice in Words: एक लाख पचास हजार</p> <p>एक लाख पचास हजार</p>			Total	1,50,000.00

Terms & Conditions:
 & o.E.
 Goods once sold will not be taken Back
 Subject to *Deoria* Jurisdiction Only.

Certified that the particulars given above are true and correct

For- M/s. Harindra Enterprises

Authorised Signatory

Mob.: 8787097076

M/S. Harindra Enterprises

Sr. No. **3331** Add.: Mahuawa Khurd, Deoria (U.P.)

Date: 21-1-24

Name: **शिवशंकर राव गुप्त प्रधान**
 Address:

Sr. No.	Description of Products/Service	Qty.	Rate	Amount
1.	Pantank mad	1		25000/-
			<i>(Signature)</i>	
Total Invoice in Words:			Total	25000/-

Terms & Conditions:

& o.E.
 Goods once sold will not be taken Back
 Subject to *Deoria* Jurisdiction Only.

Certified that the particulars given above are true and contact

For- M/s. Harindra Enterprises

(Signature)
 Authorised Signatory